
Geometry     SHOW WORK   Name___________________________ 

10-1 worksheet A  Rectangle:  A = l · w Triangle:  A = 
1

2
· b · h  Parallelogram:  A = b · h 

Find the area of each figure. 

1.    2.    3.    4. 

 

 

 

 

 

 

  A = ________   A = ________   A = ________  A = ________ 

5.    6.    7.    8. 

 

 

 

  

 

 

  A = ________   A = ________   A = ________  A = ________ 

9.    10.    11.    12. 

 

 

 

 

 

 

  A = ________   A = ________   A = ________  A = ________ 

Find the value of x for each parallelogram. 

13.     14.     15. 

 

 

 

 

 

 

   x = ________    x = ________    x = ________ 

16.     17.     18. 
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Geometry     SHOW WORK   Name___________________________ 

10-1 worksheet B  Rectangle:  A = l · w Triangle:  A = 
1

2
· b · h  Parallelogram:  A = b · h 

 

19.  A rectangle’s length and width have a ratio 3:5. 20.  A triangle’s base and height have a ratio of 2:3. 

Its area is 540.  Find the length and width.  Its area is 48.  Find the base and height. 

 

 

 

 

 

length = ___________ width = ___________  base = ______________  height = ________________ 

 

21.  A parallelogram’s base and height have a ratio 22.  A triangle’s base and height have a ratio of 4:7.   

of 5:9.  Its area is 405.  Find the base and height.  Its area is 350.  Find the base and height.  

 

 

 

 

 

base = ______________  height = ________________ base = ______________  height = ________________ 

 

Find the area of each figure.  Remember Pythagorean Theorem:  a2 + b2 = c2 

23.       24.     25. 

 

 

 

 

 

 

 

 

 

   A = ________    A = ________    A = ________ 

 

 

26.     27.     28. 

 

 

 

 

 

 

 

 

   A = ________    A = ________    A = ________ 
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